o x4

~

=4iz=z2

T

(
><7‘+7<*/7{

.7,

( ~ = U0

K—n -

Wy = n\ KLL-'Z

S’--{‘l,-f)

@ 1G4z

Lﬂt ﬂvé’ Yo









O %52.—712
*F.(it)-xh(u
A ORERC Ryl 4d>g | g
R, «f\a.cf?_ Iwel. &l Leis

iAo
)(-I— X+ = \7‘*"1.)"'}3 T Criv] ).
C. Xy, %, € b1 £o1) 2 f(x) havas

X, #YX- | i [o): {-4)=/|
T ’Y"H'U«'Z ll=

—

Do Y RER X ’;2. N —Fﬁ\:.)"-'ﬂ‘o) \ﬁg






N

a1 7o
N«aﬂcﬂ

Ao L]

& A

S ]

IS e



A
0‘“,""[5)” an:z—a/l-/— roo J_ S:""g —I0+’2‘°7
a (0997 & ~q + ¢wo [t 2

Nob A C@ Aa~ 1 4 stp(?-((.('n’h)

= 900N ’

— Qlom D04 gﬂ??) l'o( ylORY
62%}" f}ﬁff—ﬂ”ﬂ / =¥ q +19n)
_ — - — 1S=|[0 (@-m
GO0 \n>H Ry=

a = 695 — Yoo= — C k"&"\f\wd 7/\
! ] -I—q b G )
On t6?+ ]'\'LO'Lao:—g”' 411’\‘140 ‘ O\’Lo* CF Oy, .._._,5‘

oz =M1 O






@ P- ><(1 +ﬂ7<>-£>LZ~H\§( 5

O' = X -1 Q= Xt

. Houaohiber wsrhde (1
—V—P'\ QQ (Q.[X} —':JJ H, RQTIZZX)

o H'Q'\'T{ grﬁuar(l
G PO HE(ma) e T
v Aaanjo'

)= n



‘ /x-tc)-wJ vadd 2HAS mnanalo’l Z(j)_:
P (X-n) =) Tlal=0

)= P-3) = 7
L m.;-é = —lo Cm
— g )Ye = O '
[+ R— L+ 3¢ {hz-?—@.«.é: 1% D hou's
& —230- 57 ‘LLX,"'L';'O qu_g _¥
a=-1) \lo -9))

s G




\

W\
o
o X TR o + A, X+on =T
W

’ olqA)-')q»\éZ' j

’ @Mq'l-] \ﬁhé@'
¥g= & T [0( 5% -
QL “’459 R e J:E
| 15 90°




‘_‘féf) {Zm-vaH

o) = @*’D&f

:f(‘% \ 9w 4470

A 68)= 2

2 K
@a+ZAM )=93

)< Yx£H

QR +20+A

)('4/_ K4

ZA-I-Za—f—;
ﬁ X XEFC

a*lﬁ-'b"b
G=A &1 3



>
3
q
z.>
(<)
J(/fc)-ﬁ
YIS 4,
J
ﬁ/(a)—
: - 6,
50
¥

A
T v
| ._)( bh
He
o
;0
1‘5’)://4”4
\ s
)_\"a /:f
a7
Lo

’44
- W
T g
Y
o
(\a\



@/"f(x)) * 67 (20{420\_“ ZA =) fjoa?a?ézm-/

-0\

—f(‘)/"a.) 22 =~ pRo — z.}n“n“@*l)

X #rg =/ - -k t20

(1) 41 = (14 +r0 )2t = XS [ G- 1y =4 +20
- =334 4 = 1635 F7

Xep =1y TOXEE e
R poherie = eﬁﬁ 12 Lo

Y(e-r) = b (e-¥) VR



L4 = G- -l +20 &5 =D ""‘m}_} @l(jq_
_,P-__ C'E./ <) Cﬂq}&r‘}
I
XxX =5
Kx'—ny—hx pzn = §

| Y= G-ve
K (x=8) =4 =T Lo de
1 yx-1y Lm x#‘; X’-o-.:-/\
y'> X#9

)L:'/‘-) ,\,J}L i“’\\ldk
~) (R~*) o~ b?”"'[



@

Ap %3 ’
)Qé{'lzlbf/ I}Lb <
)(LC—(OM;Z/}}%YI(L)\(»") v o )3‘_}

x} C {0,4,1,}, 4 3‘;1‘]\(%%21' “1IRo XD Ao

C’>—;q/_.,c,.)-$ 5y vnoAen lce é»\.a(‘,:‘.’ ’
T AP prokosom I Fhua Pt



| —









XC9
Ke

(IIW»()W’-’-”

=

bbwx oo ¥ =/
2. Swl =1

G T X

!

L

5,7 ’11\";"7("‘4}\:.‘\

_TL K RET
ZX - 5
S e
7_7(:— ll"’_C G
Sw
/rl':- -r?:e]'
_ -
Yas" X &
A=~



